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f x θ θ θ −= − �8� 1, 2,x = � �8�0 1θ< < 8��(��������������+���%������������

��������� ����6�� n ��=�������/���� �� � ( ) 1/E X θ= ����� var( ) (1 ) /X θ θ= − ��

�� �����:+ ���� �����3�������/���������� ��� ���(���θ ��

+� ������������$� �� � 100n = ����� �� �
1
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n
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=
=� �$� ����
��� ��� ��
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( ) (1 )π θ θ θ− −∝ − �8�0 1θ< < ������� �� � ������ ������

��� ��+� ����(���θ ������+� ����� ��+� ������ �������� ���� n �����

1
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n

ii
x n

=
− +� ���

�� �� ����������� ������������(������ ������ ���+5��>�%����.�)����� ��� ��

(���θ ��������$���"����� ��������(��� ���������$�.�)������ ����
��� �

���������+ ������������3��� ��1,7�?@A��� ��%���(���θ ���

,� ������������ �� � �������� )�(��� ����(�������� ������������� ���� X ����$�%���+)�

( | )f x θ 8� 0x > 8� 0θ > ����� �� � ���������������$���� ��+� ����(��� ������� ( | )F x θ ��

�����������������(���6���,������+���%����?���%������� ���������$����� � �����)���

���)�$� � ���%�������(� ���(��� �#��+���%� �����4�8�!�������5��2��� �����������$�

�+���%� �����)������)�/���� �������� �������� ������ ���(�������$� �+���

	� ��%��� 
B��(���+���%� �����

0 10x< ≤ �� ���

10 25x< ≤ �� -�

25x > �� ,�

=�� �� �����$���/��������(��� ���� �� ��������+����3���6��� ���+ ��������3�����

��/���������� ��� ���(�θ ������(��� �����(� F ����� f ��
������ ����������� � ���������
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������ ������������� ��+� ����(��� ��������������� ��+�������%�����@��� ���� ��

������ ���� 3θ = ������ 2τ = ����� 8�����$� ���C����$���%;������%� �� 8��(� ����

������ ������������ �+���4 0.05α = 5���

!� �� ��
� � X �+���������� ����@��� ����� ��+� ���4�� �������� ���� 3α = ����� 100θ = 5��

�3���������� ������������ ���� ���+ ������������3��� ���� �� ����������$���� ��+� ����
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� � p �+�� ������+�+��� )� �� �������������� ����+� �����,'�����1'������� � ( ]50,90
N �+�� ���

���+����(������������ ����������������������� ����6�� 70n = �������%��������+� �����,'�

4�3������5�����1'�4��������5�� ( ]50,90
~ (70, )N b p �������� (50 90)p P X= < ≤ ���

�������;������ ������ ��� ������
( ]50,90

ˆ
70

N
p = �������$� �� ����� ��� ���

( ]50,90 26
ˆ 0.3714

70 70

n
p = = = ���

������ ��� ���%���������(� ����� ��� ������$�%���+)�
3

ˆ ˆ(1 ) 26 44
ˆ ˆvar( ) 0.0033

70

p p
p

n

− ×
= = = ��

����� ����	����$�%���+)� 0.3714 1.645 0.0033± �F�4'��!-*8�'�*--�5�

�

+5��
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∞
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�� ����6�� 70n = �������%��������$��� ��� ����,'�� ( )50,
~ (70, ( 50))N b P X

∞
> ��������� ��� ���

���$�%���+)�
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ˆ /(50 90)
ˆ
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N n NP X
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N n NP X ∞ ∞

< ≤
= = =

>
����� ���� ����� ��� ������

26
ˆ 0.4333
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p = = ��

����%��������4�����%��� ����3��� ���%����5��(� ������ ��� ��������(��� ��4���� ���������G �

�3�� 5�+������� ( )50,
N

∞
�����+��'��� �������� �%�����+�+��� )��
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�� #� *� ,� -� 0�
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0
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.�)����� ��� ���$���� ���"����� ��������(��� ����F��3��� ���%������(� ������ ������

( ) ( )

( )

1

1 1 1

1

( ) ln ( | ) ln (1 ) ln ( 1) ln(1 )

ln ln(1 )

i
n n nx

X i ii i i

n
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f x x

n x n

θ θ θ θ θ θ

θ θ
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= = =

=

= = − = + − −

= + − −

� � �
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1
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ii
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θ θ
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1 11 1 1
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θ
θ θ

θ θ θ θ
= =

− −−
′ = ⇔ = ⇔ = ⇔ − = − ⇔ =
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1
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ii
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=
≥� 1ix ≥ 1, 2, ,i n= � 1

2 2
( ) 0

(1 )
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ii
x nn

θ
θ θ

=
−

′′ = − − <
−

�
�

θ 1ˆ Xθ −=

100ˆ 0.4
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θ = =

1 2

1

, ,
ˆ ˆˆvar( ) ( )

nX X XIθ θ −≈
�

1ˆ ˆˆvar( ) ( )θ θ −′′≈ −�

( )
1 2

1

, , 2 2 2 2

2 2 2 2 2

( / )
( ) ( )

(1 ) (1 )

(1 ) / (1 )

(1 ) (1 ) (1 ) (1 )

n

n

ii
X X X

X nn n n n
I E E

n n n n n
n

θ
θ θ

θ θ θ θ

θ θ θ θ

θ θ θ θ θ θ θ θ θ

=
� �− −
� 	′′= − = − − − = +
� 	− −

 �

� �− − +
= + = + = =� 	

− − − −
 �

�
�

�

1 2 , , 2

100 100ˆ( )
ˆ ˆ 0.6 0.16 0.096(1 )

nX X X

n
I θ

θ θ
= = =

×−
�

0.096ˆˆvar( ) 0.00096
100

θ ≈ =

( )
1

1 1
1

1

2 2

100 150 36 24 0.0576ˆ ˆˆvar( ) ( ) 0.00096
(1 ) 0.16 0.36 0.0576 60

n

ii
x nn

θ θ
θ θ

−
− −

−
=

� �− +� � � �� 	′′≈ − = + = + = = =� 	 � 	� 	− 
 � 
 �
 �

�
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θ 0.4 1.96 0.00096±

1 1/2
( ) (1 )π θ θ θ− −∝ −

1

1 1
( ) ( | ) (1 ) (1 ) ii

n n x nx n

X ii i
L f xθ θ θ θ θ θ

−−

= =

�= = − = −∏ ∏
1/21 1/2 1

( ) (1 ) (1 ) (1 )i ix n x nn n

Xπ θ θ θ θ θ θ θ
− − −− − −� �∝ − − = −

n
1
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n
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=
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2 2

1 1

0.5 100 150.5
var( | ) 0.0009536

250.5 251.5
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n

ii

n n

i ii i

n x n
x

x x

θ
=

= =

− + ×
= = =

×+ +

�

� �
��

����?@A��� ��%������ ����$�%���+)� 0.399 1.96 0.0009536± ��8������4'�##0!8�'�*,1!5�
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 �������� )�(��� ����������(��� �����������$��+���%� ������ ����$�%���+)� �����$��(� ���

���+�+��� )��(� ���������������$��� ��%�����

( ) ( )

( ) ln (2 | ) ln (7 | ) ln (12 | )

11ln (10 | ) 6 ln (25 | ) (10 | ) 5ln 1 (25 | )

f f f

F F F F

θ θ θ θ

θ θ θ θ

= + + +

+ + − + −

�
��

�

"�	����	���
2

0
: ~ ( )

3

x
H X F x

x

� �
= � 	

+
 �
8� 0x > ��� �

1 0
:  is falseH H ��

i ��
( )i

x ��
( )

( )
X i

F x ��
( )

( )n iF x
−

�� ( )
( )

n i
F x �� ��3���((�

�� '�!-� '�'*'0-� '� '��� '��,1�*�

�� ��1,� '��,,�1� '��� '�*� '��**0��

#� ��#-� '��1#0-� '�*� '�-� �$������

*� 1�0*� '�,0!#'� '�-� '�0� '����!'�

,� **�!�� '�0!0�#� '�0� �� '����!0�

�

0.40614nD = ��

������)�� � ������ �����%������ �,7����
5,0.05

1.36 / 5 0.60821D ≈ = ��

���
5,0.05n

D D< ��������� ���E�� � �������8�������������� ���E�� � �� � ������ ��+� ����������

��%�����@��� ���� �������� ���� 3θ = ������ 2τ = ��

��

"�	����	�%�

• A�(���� NR 8� ������+����(����������������(���8��(���������)��������)�r ��� ����6�� NR ���

• 2���������������8� 1, 2, ,j NR= � �

o >����� ���'�@��� ����� ��+� ���%����+���� ( )1 2
, , ,

n
x x x� ����$����� �������

ix ��

$����� �� iu ��������(���4'8�5��������%����+����������� �����%������� ���8������

����� �� ( )( )1/
1 1i ix u

α
θ

−
= − − ��

o ����� ��
( ) (1)i n

r x x= − �����/���� ���%�������������� � i ��(� �������)�r ��&����������

� ��( ������ ��$� �������������)����������� ���(��� �������3�����������

• ���� NR ������ ���(�����)�r ���������� ��$� ���������3��� �����(� �����"��������� ��+� ����

4��� �$���8�/����������� )��� ��� ���8�H�5�

�
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( | ) 0.399
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n
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θ θ= = = =

+ − +�



!�

�

�

�

�������	
�������	�
���	�
���

�

��������	
��

��
��
�����

��������������	�	�����

���������������������

�

�

�

�

��������������

�� �������������� �����#�"��� �������������������#���$�����������$� ��� � �����$���

�� �� ���������"��� ����� �������� �����%������� ��

#� &�����%���'����� ����(�������$� �����&������ ��� �� �� ���� ��$�)������������

�� ������ ��� ��� ����������

*� A����$� ���������$� ����)����������������������� �������� ��������/�$��� �� �

)�������� ��������� ���"��� ������:���� ���������$� ��������%�����������
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> NR=10000; alpha=3; theta=100; n=10 
>  
> r=rep(NA,NR) 
> for(i in 1:NR){ 
+   u=runif(n); x=theta*((1-u)^(-1/alpha)-1) 
+   r[i]=max(x)-min(x) 
+   } 
>  
> mean(r); sd(r); hist(r) 
[1] 190.676 
[1] 183.4617 
> print("Prob(range>1500)");mean(r>1500) 
[1] "Prob(range>1500)" 
[1] 0.0026 
> 
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> direct="C:/Users/joaoas/Desktop/trial/" 
> file="decathlon.csv" 
>  
> dta=read.csv(paste(direct,file,sep=""),header=T,sep=";") # read data set 
> # Check reading 
> head(dta) 
              Name        Country run100m LongJump ShotPut HighJump run400m 
1      Kévin Mayer   France (FRA)   10.70     7.52   15.72     2.08   48.26 
2    Rico Freimuth  Germany (GER)   10.53     7.48   14.85     1.99   48.41 
3     Kai Kazmirek  Germany (GER)   10.91     7.64   13.78     2.11   47.19 
4    Janek Õiglane  Estonia (EST)   11.08     7.33   15.13     2.05   49.58 
5    Damian Warner   Canada (CAN)   10.50     7.44   13.45     2.02   47.47 
6 Oleksiy Kasyanov  Ukraine (UKR)   10.77     7.28   14.99     2.02   48.64 
  run110mHurdles DiscusThrow PoleVault JavelinThrow run1500m 
1          13.75       47.14       5.1        66.10    276.7 
2          13.68       51.17       4.8        62.34    281.6 
3          14.66       45.06       5.1        62.45    278.1 
4          14.56       42.11       5.1        71.73    279.2 
5          13.63       40.67       4.7        56.63    268.4 
6          14.05       48.79       4.7        50.82    273.9 
> attach(dta) 
>  
> # a) 
> cor.test(run100m,run400m,alternative="greater") 
 
        Pearson's product-moment correlation 
 
data:  run100m and run400m 
t = 5.1666, df = 18, p-value = 3.241e-05 
alternative hypothesis: true correlation is greater than 0 
95 percent confidence interval: 
 0.5569272 1.0000000 
sample estimates: 
      cor  
0.7728245  
 
>  
> # c) PCA based on scaled data 
> 
x=cbind(run100m,LongJump,ShotPut,HighJump,run400m,run110mHurdles,DiscusThrow,PoleVault,J
avelinThrow,run1500m) 
> out1=prcomp(x,center=T,scale=T) 
> out1 
Standard deviations (1, .., p=10): 
 [1] 1.7665945 1.4611509 1.2324929 1.0469983 0.8681724 0.8071679 0.6114752 
 [8] 0.4167608 0.3078143 0.2852252 
 
Rotation (n x k) = (10 x 10): 
                       PC1          PC2         PC3         PC4          PC5 
run100m         0.50006092 -0.116517303  0.09925368 -0.27786509  0.005300623 
LongJump       -0.47266700  0.144883059 -0.02727576  0.04954576  0.402795785 
ShotPut         0.01053579  0.599461439 -0.16532487 -0.07492435  0.025738265 
HighJump       -0.06998335  0.216845060  0.62673606 -0.20890343 -0.057725851 
run400m         0.49517556  0.040994639  0.07923111 -0.19523288 -0.199002425 
run110mHurdles  0.32619863 -0.248204254 -0.24431638  0.17893676  0.670312176 
DiscusThrow     0.14659569  0.545490097 -0.17039971  0.41269998 -0.161746916 
PoleVault      -0.04288229 -0.008906601  0.64363604  0.16846621  0.319306782 
JavelinThrow    0.14661671  0.417353668 -0.05603983 -0.50676575  0.455509642 
run1500m        0.35367539  0.154751578  0.23845838  0.58773633  0.095939716 
                       PC6         PC7           PC8         PC9        PC10 
run100m        -0.14529344  0.03877925 -0.5225405417 -0.18912876  0.56377485 
LongJump       -0.31378631  0.26452821  0.2397936093 -0.37680821  0.47141192 
ShotPut         0.30163827  0.48679399 -0.3733069335 -0.24883182 -0.27874214 
HighJump       -0.56578960  0.20003055 -0.0863265488  0.27759416 -0.25232651 
run400m         0.08353502  0.39950881  0.6958341743 -0.12193818  0.05903967 
run110mHurdles -0.16159371  0.32941591 -0.0413396327  0.33495843 -0.20598142 
DiscusThrow    -0.09611670 -0.05837631  0.0523048302  0.51499604  0.41812429 
PoleVault       0.61950129  0.05317858  0.0001373733  0.15121574  0.20976347 
JavelinThrow    0.03930975 -0.54520002  0.1833795283  0.02426563 -0.06223538 
run1500m       -0.20412816 -0.28273564  0.0195458120 -0.51723117 -0.22348819 
> summary(out1) 



�#�

�

Importance of components: 
                          PC1    PC2    PC3    PC4     PC5     PC6     PC7 
Standard deviation     1.7666 1.4612 1.2325 1.0470 0.86817 0.80717 0.61148 
Proportion of Variance 0.3121 0.2135 0.1519 0.1096 0.07537 0.06515 0.03739 
Cumulative Proportion  0.3121 0.5256 0.6775 0.7871 0.86248 0.92763 0.96502 
                           PC8     PC9    PC10 
Standard deviation     0.41676 0.30781 0.28523 
Proportion of Variance 0.01737 0.00947 0.00814 
Cumulative Proportion  0.98239 0.99186 1.00000 
>  
> # How many components should be retained?  
> # Kaiser criterion -> 4 (78.71% of the total variance explained) 
>  
> ## loadings 
> #1st alternative 
> W=out1$rotation[,1:4] 
> sqrt.lamb=out1$sdev[1:4] 
> cbind(W[,1]*sqrt.lamb[1],W[,2]*sqrt.lamb[2],W[,3]*sqrt.lamb[3],W[,4]*sqrt.lamb[4]) 
                      [,1]        [,2]        [,3]        [,4] 
run100m         0.88340486 -0.17024936  0.12232945 -0.29092427 
LongJump       -0.83501091  0.21169601 -0.03361718  0.05187433 
ShotPut         0.01861247  0.87590363 -0.20376173 -0.07844567 
HighJump       -0.12363220  0.31684336  0.77244774 -0.21872154 
run400m         0.87477441  0.05989936  0.09765179 -0.20440849 
run110mHurdles  0.57626071 -0.36266387 -0.30111820  0.18734648 
DiscusThrow     0.25897513  0.79704336 -0.21001644  0.43209617 
PoleVault      -0.07575561 -0.01301389  0.79327685  0.17638383 
JavelinThrow    0.25901228  0.60981669 -0.06906869 -0.53058287 
run1500m        0.62480100  0.22611541  0.29389826  0.61535892 
> # 2nd alternative 
> cor(x,out1$x[,1:4]) 
                       PC1         PC2         PC3         PC4 
run100m         0.88340486 -0.17024936  0.12232945 -0.29092427 
LongJump       -0.83501091  0.21169601 -0.03361718  0.05187433 
ShotPut         0.01861247  0.87590363 -0.20376173 -0.07844567 
HighJump       -0.12363220  0.31684336  0.77244774 -0.21872154 
run400m         0.87477441  0.05989936  0.09765179 -0.20440849 
run110mHurdles  0.57626071 -0.36266387 -0.30111820  0.18734648 
DiscusThrow     0.25897513  0.79704336 -0.21001644  0.43209617 
PoleVault      -0.07575561 -0.01301389  0.79327685  0.17638383 
JavelinThrow    0.25901228  0.60981669 -0.06906869 -0.53058287 
run1500m        0.62480100  0.22611541  0.29389826  0.61535892 
>  
> ## Plotting athletes using PC's 
> PC1=out1$x[,1]; PC2=out1$x[,2]; PC3=out1$x[,3]; PC4=out1$x[,4]; 
> cbind(PC1[1],PC2[1],PC3[1],PC481]) 
Error: unexpected ']' in "cbind(PC1[1],PC2[1],PC3[1],PC481]" 
>  
> cbind(PC1[1],PC2[1],PC3[1],PC4[1]) 
          [,1]     [,2]     [,3]       [,4] 
[1,] -1.623168 2.505216 1.122369 -0.1823041 
> 
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> #### gamma exercise 
> # data generated using a gamma with parameters alpha=5 and theta=4 
>  
> direct="C:/Users/joaoas/Desktop/trial/" 
> file="gamma.csv" 
>  
> dta=read.csv(paste(direct,file,sep=""),header=T) # read data set 
> # Check reading 
> head(dta) 
         x 
1 23.06331 
2 41.00129 
3 18.14969 
4 10.54072 
5 22.11920 
6 22.01414 
> attach(dta) 
>  
> # a) 
> minusloglikgamma=function(param,x){ 
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+   alpha=param[1]; theta=param[2] 
+   return(-sum(dgamma(x,shape=alpha,scale=theta,log=T))) 
+   } 
>  
> out=nlm(minusloglikgamma,c(1,10),hessian=T,x=x); out 
Warning messages: 
1: In dgamma(x, shape = alpha, scale = theta, log = T) : NaNs produced 
2: In nlm(minusloglikgamma, c(1, 10), hessian = T, x = x) : 
  NA/Inf replaced by maximum positive value 
3: In dgamma(x, shape = alpha, scale = theta, log = T) : NaNs produced 
4: In nlm(minusloglikgamma, c(1, 10), hessian = T, x = x) : 
  NA/Inf replaced by maximum positive value 
5: In dgamma(x, shape = alpha, scale = theta, log = T) : NaNs produced 
6: In nlm(minusloglikgamma, c(1, 10), hessian = T, x = x) : 
  NA/Inf replaced by maximum positive value 
7: In dgamma(x, shape = alpha, scale = theta, log = T) : NaNs produced 
8: In nlm(minusloglikgamma, c(1, 10), hessian = T, x = x) : 
  NA/Inf replaced by maximum positive value 
$`minimum` 
[1] 697.1006 
 
$estimate 
[1] 5.529150 3.577327 
 
$gradient 
[1] -4.317885e-06 -5.720370e-06 
 
$hessian 
         [,1]     [,2] 
[1,] 39.63455 55.90487 
[2,] 55.90487 86.37696 
 
$code 
[1] 1 
 
$iterations 
[1] 60 
 
>  
> vcov=solve(out$hessian); vcov 
           [,1]       [,2] 
[1,]  0.2897028 -0.1875014 
[2,] -0.1875014  0.1329318 
>  
> print("95% CI for alpha"); 
[1] "95% CI for alpha" 
> 
cbind(out$estimate[1]+qnorm(0.025)*sqrt(vcov[1,1]),out$estimate[1]+qnorm(0.975)*sqrt(vco
v[1,1])) 
         [,1]     [,2] 
[1,] 4.474218 6.584082 
> print("95% CI for theta"); 
[1] "95% CI for theta" 
> 
cbind(out$estimate[2]+qnorm(0.025)*sqrt(vcov[2,2]),out$estimate[2]+qnorm(0.975)*sqrt(vco
v[2,2])) 
         [,1]     [,2] 
[1,] 2.862728 4.291926 
>  
>  
> # b) 
> print("ML estimate of P(X>25)");  
[1] "ML estimate of P(X>25)" 
> pgamma(25,shape=out$estimate[1],scale=out$estimate[2],lower=F) 
[1] 0.2380413 
>  
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